HUYA Review Answers

[image: ]

[image: ]

[image: ]
[image: ]

[image: ]

[image: ]

[image: ]


[bookmark: _GoBack][image: ]
image6.png
6) Solve using square roots.

x?2 -121=0
+ 121 +121
x? = 121

x=+11
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7) Solve using square roots.

3x* =12
3 3
x2= 4
Xx=4%*2
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8) Solve using square roots.

2x2 +8=0
-8 -8
2x% - -8

no solution ( you can't square

root a negativel)




image1.png
1) Convert this equation from vertex form to standard form.

y=-2(x-3P+7
y=-2(x"-3x-3x+9)+7
y=-2(x"-6x+9)+7

Y =-2x>+12X-18 + 7

y = -2x% + 12X - 11

**remember to check using a
graphing calculator**
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2) Find the vertex of y =2x*+4x-10

Start with -b 4 =4 =-1
2a *200 4

a =2

b=4

Then plug in value for x

tofindy —— y=2(-1+4(-1)-10
y=2(1)-4-10
y=2-4-10
y=-2-10=-12 vertex (-1, -12)
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3) Use your graphing calculator to solve this equation by graphing.

Yy=x>-6x+5

Look for the zeros:
land 5




image4.png
4) Use your graphing calculator to solve this equation by graphing.

Yy =Xx>+8x+16

Find the zero: -4
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5) Use your graphing calculator to solve this equation by graphing.

Yy=-2x"-5x-6

No solution - the parabola
does not touch the x-axis




